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IREs AfaTeh IFEUET Ua GiRIeor 9Rve, A= (SIREs)
(Jharkhand Council of Educational Research and Training, Ranchi
(Jharkhand)
clfadg dafdes qdieT : 2021-2022
Second Terminal Examination: 2021-2022
AlSeT geA-97
Model Question-paper
de-1 (Set- 1)

T - 11 fwar - oS ST quiteh - 40 | @AY - 1 "er 30 fAee|
(Class -11) (Sub - Commercial Arithmetic) (F.M - 40)

(Time -1hour 30 minutes)

g fader- (General Instruction)

qreTrf JUTEsT A9 eeal H 39X ¢| (Examinee write answer in their own words as
far as practicable.)

Fel UeaAl T F&AT 19 g1 (The total number of questions is 19)

TR FEAT1 & e WEAT7 b T o 3T Ut g1 $oidl & fohgl Ui 9eall & 3w’
TF aFg H AT 9 Y &7 AT 1 31 AUTRa §1 (Question 1 to Question 7 are
very short answer type questions. Answer any five of these questions in one sentence.
Each question carries 1 mark.)

UReT HEAT8 @ YT TEAT 14 T ofg 3T URe 81 $oid & vl 5 el o 3o 3f&ehcs
50 ersel F AT Tcqs U 1 AT 3 31 FURT §1(Question 8 to Question 14 are
short answer type questions. Answer any five of these questions in at most 50 words.
Each question carries 3 marks.)

gl TEAT 15 T UReT TEAT19 doh oy 3a8T U gl 54 & fohegl ol uRall & 3
3fFad 150 Aeai & QAT gRAF wA & AA 5 3F AURT FI(Question 15 to
Question 19 are long answer type questions. Answer any Three of these questions

in at most 150 words. Each question carries 5 marks.)

Page 10of4



GROUP A

1) Express 1/4 into percentage
1/4 &1 9fderd & <gaFd i |
2) Find simple interest on X 5,000 for 2 years @ 5%.
T5000 W 2 IV & AT 5% &I X ¥ ATYUROT I AT |
3) Ashopkeeper sells a mobile for 12,000 costing 9,600, what is his profit or loss?
Ueh SIURT Teh Alsa 9,600 # @G X 12,000 H o7 &A1 39HT e AT gifed
SRy
4) What will be the sale price of an article having a list price of 5,280 being sold at a discount of
12.5%7
%5280 & 3ifehcd Hed aTel AAT H 12.5% Fe¢ I &1 347 df fahd Heg FdrT |
5) What will be 40% of 180?
180 FTI 40% fehdaAT glom?
6) What will be the interest if amount 11,500 and principal X 8,800
gfe Asreasr 311,500 3R HelteT 38,800 ar sITST TohdeT glem?

7) There is a profit equals to cost of 20 apples by selling 120 apples, what is the percentage of

profit?

120 @9 S9= & 20 A9 & Fed & S o1 §IaT § dl Jiaerd orsT fehdelr glam?

Group B

8) Due toincrease in the bus fare by 25% there is a fall of 40% in the number of passengers. Find
the percentage decrease in the income?

I & 1S §25% I Gl gl & 97 IITAAT ol G&AT 40% €€ Sy § af 3T &
HAT F1 gfaerd AT Y |

9) The cash prize of a cooler is X 5600. A customer pays 22400 immediately and the remaining is
paid in 12 monthly installments of X300 per month. Find the rate of simple interest.

Teh Foll & oAehg Hed I5600 §| U Aeewh 32400 doshied &am & 3 AW wfasmg
300 T e F 12 FGIAT A AT § AT ATIROT SATS HI &I AW |

10) A dealer pretends to sell at cost price used 750 grams in place of a kg find his gain percentage.

Teh GeleiGR oI Hed W HiaT Sear § fohg 361 Teh fohollane 1 dic 750 A
FT §, 3TPT o1 gfaerd adiv |
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11) A man gets 9900 by selling his bike through a broker who charges brokerage at the rate of 1%.
Find the amount of brokerage and the selling price of bike.

Teh HJT o Gollel ¢dRT Sl 1% Gollell ST & , Teh d15eh dgeh T9900 Y8 e
fohT o gorrer Y fem arm et AR st #1 AT Hed |

12) An amount becomes X 25,200 in 2 years and X 27,000 in 5 years, find the amount and rate of
interest.

AIS Yol TTYROUT SISl T & ¥ oFNT ATl 9 2 gt H 25,200 3R 5 auf 7 T
27,000 BIT § df 98 9T UG ATl I &L v |

13) A retailer wants to make 25% profit on selling price if the purchase price of an article isX 4500
find out its selling price and total profit.

Teh GeT AR fasha Hed W 25% o187 HAlET gl ¢ IS a&g F 5T Hod
345 g o fashT Fed qAT Fol T TAV |

14) An agent has two options either get a fixed salary of X 1000 per month plus 5% Commission on

sales or 25% Commission on sales. Which offer he should accept if average monthly sales are X
12,0007

U TUoic & 99 af fd%eq & - 1000 ufddre ada 3R 5% 9 W e ar [{w
25% AR |Ife ARAs ST 3iada 212,000 g df 98 g A0 & GHC HLam?

Group-C

15) A man gave 35% of his sum of money to his son and 25% to daughter, 50% of the remaining
gave donation to a school still he has X 40,000 with him. Find his total sum of money.

Teh AT o 3el el HT 35% I T , 25% A &l & &A1 | A5 F7 50% Uh Fhol
P T H Sl o IATd 3T 9 340,000 QY § ddAST 3qb 9T fohdell &7 AT?

16) The aggregate of interest on two Principals at 5% per annum for 4 years is X 300 and difference
is X 60. Find both principals.

5% aTf¥eh SATST &l &X & 4 ¥ & [T & FHelted o SISl &1 T I300 AT 3N
60 g @ Sl HorersAr AT Y |

17) A wholesaler sold a machine to a shopkeeper at 20% profit . The shopkeeper sold it to a
customer so as to get 25% profit for himself. The difference between the selling price of the

shopkeeper and that of the wholesaler was found to be Rs 1500. Find the initial price of the
machine.
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Teh Uik fAshdl & Th AMA 20% T W Uh GhAGR H 9T | GHECR o 30
AqTEh I 25% e TR o7 fer | gehreteR 3R Aieh fashar & fasha ded & T1500
HI 3 9rIT T | AN 1 IRAF {ed AT A |

18) A broker sold a property by taking 1/2 % brokerage, the net proceeds was 15,920. If buyer
gives 1/4% brokerage then find the total brokerage received by broker.

T gellel o HOARY S 3T YTARIT eelell ik S 1T | eer e 315,920 2|
Ife sl 1/4% SoTel &aT & dr Sar3 ol o T e fohar?

19) A candidate got 42% votes and lost by 24 votes find the total number of votes. Assuming there

are only two candidates.

T goarell A foRe gArg # 42% AF ured v AR 24 A @ gR AT A A B
Sl HEIT U | 319 &% & TRt & Heqer HT dohd ¢ |
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